ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTtpaxaHb (8512)99-46-04
bapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck  (4832)59-03-52
Bnapmeoctok (423)249-28-31
Bonrorpag (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
EkatepuHbypr (343)384-55-89

NMHEBMATUYECKUE NPUBOADI

C NPYKNHHbIM BO3BpPAaTOM, C BeJINYNHON

noBopoTa BbixoaHoro Bana 180°

VBaHoBO (4932)77-34-06 MarnuToropck  (3519)55-03-13 Mepmb  (342)205-81-47
Vixesck (3412)26-03-58 MockBa (495)268-04-70 PocTos-Ha-flony (863)308-18-15
WpkyTck (395)279-98-46 MypmaHck  (8152)59-64-93 PasaHb  (4912)46-61-64
KasaHb (843)206-01-48 HabepexHble YenHbl (8552)20-53-41 Camapa (846)206-03-16
KanuuuHrpag (4012)72-03-81  HwskHuin Hosropog (831)429-08-12 CamkT-MeTepbypr (812)309-46-40
Kanyra (4842)92-23-67 HoBokyaHeuK (3843)20-46-81 CapartoB (845)249-38-78
KemepoBo (3842)65-04-62 HoBocubupck (383)227-86-73 Ceactononb (8692)22-31-93
Kupos (8332)68-02-04 Omck (3812)21-46-40 Cumdpepononb  (3652)67-13-56
Kpactopap (861)203-40-90 Open (4862)44-53-42 CmorneHek (4812)29-41-54
KpacHospck (391)204-63-61 OpeHbypr (3532)37-68-04 Coun (862)225-72-31

Kypex (4712)77-13-04 MeH3a (8412)22-31-16 CraBpononb (8652)20-65-13

Jnneuk (4742)52-20-81
Kuprusus (996)312-96-26-47 Kasaxctan (772)734-952-31 Tamkukuctan (992)427-82-92-69

EanHbIn agpec ana Bcex pernoHoB: www.airtorque.nt-rt.ru || aqr@nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
Yba (347)229-48-12
Xabaposck (4212)92-98-04
Yensbunck (351)202-03-61
Yepenosey, (8202)49-02-64
fApocnaenb (4852)69-52-93


http://www.airtorque.nt-rt.ru
mailto:aqr@nt-rt.ru

o

v

UKAS

QUALITY
MANAGEMENT

‘ AIR TORQUE

001

180° SPRING RETURN ACTUATOR 4thG

AIR TORQUE 180° spring return actuator 4™ Generation provides a rotation of 180° and in case of air
or electric failure the closing is provided by the spring return operation.

The external tfravel stop is available as a standard in fully open position (180°) and in fully close
position (0°), and it is easily and precisely adjustable of +/- 4° in both directions.

Fields of application: 3 or 4 way valves, special valves for sample taking and any applications
where a 180° rotation is required.

From model AT058 S... fo AT308 S...

From model AT408 S... to AT608 S...

When ordering 180° Rotation Spring Return Actuator add “8” and “S + number of springs”
(Ex. AT 308 S22 A FO7 17) to the standard 180° rotation actuator code.




/\) AIR TORQUE

®

(%24
W 4
I}
FOR MODEL AT058 S... = AT308 S... [«
/— -\
W PORT 2" O O |
\ ~. -
Y PORT 4’
o 4
\ /
\__T- Connection
Detail " X"
A

FOR MODEL AT408 S... = AT608 S...

-

1

o

UKAS

QUALITY
MANAGEMENT

001

X

Detail"Y"

K

Detail "Y"

(BOTTOM VIEW - 15O5211)

Notes: * Other models available
** |t is possible to obtain different forque values by interpolation of spring number (ex. S14)

A
A , ‘ 950
[ [ ~~ [
‘_‘__ x: >
4T 4 oy
SS o ~_MSXE i
- 4
+ . -
N / / \Méx12 J o
I A }
F Parallel Square Diagonal Square
DIMENSIONS IN mm
| i Approx.
ACTUATOR | " T-1SO| 1SO «| h
MODEL A [ D E F G H |[Imin.| L M N o ) P Q | Ql R N ww 228 |Flange* CH min. X z v K W(:Ig)h'
|
ATOSBS | 263 | 69 | 59 |M5x8| 4 | 80 | 30 | 30 | 12 | 29 |41,5] 11 [265 20 | 42 | - | 32 | 24 | M5 1/8" FO4 11 | 05345 40 2,05
ATI08S | 296 | 85 | 72 |[M5x8| 8 |80 |30 | 35| 16 [ 36|47 |11 | 30|20 |5 | - | 32| 24| M| - 1/8" FO5 14 | 05 |425| 40 3.4
AT208 S 393 | 102 | 84,5 |M5x8| 8 80 | 30 | 35 16 |42,5] 52| 19 |30,5 20 | 50 7 32 | 24 | M6 | - 1/8" FO5 14 | 15| 51 40 59
AT258S | 456 | 115 | 97,5|M5x8] 8 | 80 | 30 | 55 | 19 |495|568| 19 |325 20 | 70 | - | 32 | 24 | M8 1/8" FO7 17 | 1.5 57.5| 40 a = 8.4
AT308S | 502 | 127 | 111 |[M5x8| 8 | 80 | 30 | 55 | 19 | 56 | 67 | 19 |375 20 | 70 | - | 32 | 24 | M8 1/4" FO7 17 | 1,5 |63,5| 40 - - 11,9
AT4085 | 630 | 157 | 136 |[M5x8| 8 | 80 | 30 | 70 | 24 |69.5| 82 | 27 | 45| 30 | 102 | - | 32 | 24 |MIO 1/4" | F10 | 22 | 1,578,5/56/65]| 125|179 | 22,2
AT508S | 802 | 196 | 169 |[M5x8| 8 | 80 | 30 | 85| 29 |88 | 99| 27 | 52| 30 |125 32 | 24 |[MI12 1/4" F12 27 | 1.5 98| 65 | 160 219 42,5
AT608S [1020| 245 | 213 |[M5x8| 8 | 130| 30 | 100 | 38 | 110|112 42 | 62 | 50 | 140 | - | 32 | 24 |[MIé 1/4" F14 36 | 2 |12280/115| 198 | 265 79
*Notes: Other connections available.
METRIC TORQUE RATINGS
SPRING RETURN TORQUE RATINGS IN Nm Spring
Supply Pressure: 2,5Bar | 3 Bar 3,5Bar | 4 Bar 42Bar | 4,5Bar 5 Bar 5,5Bar 6 Bar 7 Bar 8 Bar stroke
Actuator (Spring| 0° 180° | 0° 180° | 00 180° | 0° 180° | 0° 180° 0° 180°| 0° 180°| 0° 180°| 0° 180°| 0° 180° | 0> 180°| 180° 0°
Model* Set** | Start End | Start End | Start End | Start End | Start End  Start End | Start End | Start End | Start End | Start End | Start End | Start End
s12| 43 25 [ 59 41 76 58 9.3 74 199 81 109 91 |126 108|142 124 | 5.8 4
AT058 § S16 62 38 7.9 55 | 86 62 | 96 72 | 112 88 | 129 105 | 14,6 121|179 155 | 78 5.4
$20 82 52 | 99 69 | 115 85 |132 102|165 135|198 168] 97 67
$24 102 66 | 119 82 | 152 116|185 1491117 8.1
$12 8 45 109 75 139 104 | 168 133 | 18 145 197 163|227 192|256 221 101 67
AT108 § S18 116 7 146 10 | 157 111|175 129|204 158 | 234 187 | 263 21,7 | 322 27,5 135 89
$20 1153 95 182 124|211 154|241 183|299 242|358 30 | 169 111
S$24 ] 189 12 | 21,9 149|277 208|336 267]202 133
$12]158 83 | 21,6 141275 199 | 333 258|356 39.1 31,6 | 449 374|507 432 208 133
AT208 § $16 | 23 13 | 288 188 | 31,2 | 347 247 | 405 305 | 463 363 | 52,1 42,1 | 63,7 53.7 27.7 177
$20 | 1302 177|361 23,6 | 419 294 | 477 352|593 468 | 71 5851 346 221
$24 | 375 224 | 433 283 | 549 399 | 665 5151|415 265
$12 | 238 11,1 329 203 | 421 294 | 51,2 38,6 | 549 422 | 604 477 | 69.5 569 | 787 660 | o 347 22
AT258 § $16 347 179 | 439 27 | 475 30,7 | 530 362 | 622 453|713 545|805 636 | 988 819 462 293
S$20 457 24,6 | 548 338 | 640 429|731 521|915 704 (1098 89 | 578 36,7
$24 | 567 31 | 658 405 | 841 588 |1024 77,1 | 693 44
$12 | 361 192 | 494 325 | 627 458 | 76 59,1 | 813 644|893 724 | 103 857 | 116 99 473 304
AT308 § $18 525 30 | 658 433 | 711 48,7 | 79.1 56,6 | 924 699 | 106 8321 119 965 | 146 123 63 40,5
$20 69 40,9 | 823 542 | 956 67,5| 109 808 | 135 107 | 162 134 | 78,8 507
$24 854 51.7 | 987 65 125 92 152 118 | 945 608
$12 | 755 39611032 673 | 131 95 159 123 | 170 134 | 186 150 | 214 178 | 242 206 | 99 63
AT408S | S16 | 110 62 | 1376 897 | 149 101 | 165 117 | 193 145 | 221 173 | 248 201 | 304 256 132 84
$20 | | 144 845|172 112 | 200 140 | 227 168 | 283 223 | 338 278 | 165 105
524 | | 179 107 | 206 135 | 262 190 | 317 245 | 198 126
S121 149 843 | 206 141 | 262 198 | 319 255 | 342 277 | 376 311 | 433 368 | 489 425 | 199 135
AT 508 § S16 e | 218 131 | 274 188 | 297 211 | 331 245 | 388 302 | 444 358 | 501 415 | 615 528 266 180
$20 | | 286 178 | 343 235 | 400 292 | 456 349 | 570 462 | 683 575 | 332 224
5§24 | | 355 225 | 411 282 | 525 396 | 638 509 | 399 249
§$12 | 277 154 | 383 260 | 489 367 | 596 473 | 638 515 | 702 579 | 808 686 | 915 792 378 255
AT 608 S s16 | | 404 241 | 511 347 | 553 390 | 617 453 | 723 560 | 830 666 | 936 772 | 1149 985 504 340
$20 | | 532 327 | 638 434 | 745 540 | 851 646 | 1064 859 | 1277 1072| 630 425
$24 | | 660 414 | 766 520 | 979 733 [ 1192 946 | 756 510
Ne° of The above value are the out-put torque that remain available to operate the valve when the port "2"is pressurized.
Springs | Out-put torque available when air supply fails




A\

v

UKAS

QUALITY
MANAGEMENT
001

\) AIR TORQUE

ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTtpaxaHb (8512)99-46-04
bapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck  (4832)59-03-52
Bnapmeoctok (423)249-28-31
Bonrorpag (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
EkatepuHbypr (343)384-55-89

VBaHoBO (4932)77-34-06 MarnuToropck  (3519)55-03-13 Mepmb  (342)205-81-47
Vixesck (3412)26-03-58 MockBa (495)268-04-70 PocTos-Ha-flony (863)308-18-15
WpkyTck (395)279-98-46 MypmaHck  (8152)59-64-93 PasaHb  (4912)46-61-64
KasaHb (843)206-01-48 HabepexHble YenHbl (8552)20-53-41 Camapa (846)206-03-16
KanuuuHrpag (4012)72-03-81  HwskHuin Hosropog (831)429-08-12 CamkT-MeTepbypr (812)309-46-40
Kanyra (4842)92-23-67 HoBokyaHeuK (3843)20-46-81 CapartoB (845)249-38-78
KemepoBo (3842)65-04-62 HoBocubupck (383)227-86-73 Ceactononb (8692)22-31-93
Kupos (8332)68-02-04 Omck (3812)21-46-40 Cumdpepononb  (3652)67-13-56
Kpactopap (861)203-40-90 Open (4862)44-53-42 CmorneHek (4812)29-41-54
KpacHospck (391)204-63-61 OpeHbypr (3532)37-68-04 Coun (862)225-72-31

Kypex (4712)77-13-04 MeH3a (8412)22-31-16 CraBpononb (8652)20-65-13

Jnneuk (4742)52-20-81
Kuprusus (996)312-96-26-47 Kasaxctan (772)734-952-31 Tamkukuctan (992)427-82-92-69

EanHbIn agpec ana Bcex pernoHoB: www.airtorque.nt-rt.ru || aqr@nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsiHoBCK (8422)24-23-59
Yba (347)229-48-12
Xabaposck (4212)92-98-04
Yensbunck (351)202-03-61
Yepenosey, (8202)49-02-64
fApocnaenb (4852)69-52-93


http://www.airtorque.nt-rt.ru
mailto:aqr@nt-rt.ru



